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He could say to him I left you a place to collect from.

OVERVIEW

If 12387 (the mY) sold his fields to Nynw and 1w»W sold one of the n 1132 fields to M
(retaining a similar 11172 field for himself), the 7"¥2 of 2187 can collect (N°111°2)
only from 1¥nw and not from "%. The X nx explains that ™% can tell the n'"va that
max? opn 7% °nman by Pynw. Seemingly this means that ™17 is arguing that since the
N2 fields of 1wvnw were originally 723 wn to the 1"v2 (because he bought all the
0°021 from 721X%7), therefore as long as wnw has 0°021 that are 72vWw» to the n"ya
(namely the n°111°2), the n1"v2 must collect from him first. M2 rejects this
explanation and offers another instead.
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The language used here, '01p»n 72 *nnan', is not precise, for this argument of °nnis
is not applicable here, it is applicable only in relation to the original owner (the
debtor); but not in relation to the first buyer. When a np% purchases some of the assets
of a MY, then the n"¥2 cannot collect from the npY? if the 7% has remaining assets; for the 2
can claim n23» opn 72 *nmin.! However, when a *1w 1 purchases some of the assets from a
TR Y2 (who bought it from the %), then the "1 npY? cannot claim mpn 72 >nmad, for the
Tavw is on both their properties equally. This is the meaning of 723 [t 7% 1A mm o872
Therefore 01 77 °nni7 is not the reason why the *3w npY? is exempt from paying.

mooIn explains what is the correct reason:
= 9910 75T D WY PYNI 9912 NNT DIVN RN M1 KT RNPYL 99799

And the main reason the > 1?17 is exempt, is only because of the rule that the first
n1? sold to the second 1717 all the rights, etc. which the 1wy i has (or will acquire) -
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And the 1wX1 1719 could have deflected the 1"va towards other navda. It is the
choice of the n1> which no11°a the m» will collect; not the choice of the n"va. Therefore since
the WX 1712 could offer the M the n 1102 that the n1? sees fit (and the WX 7 sold all his
rights to the "3 npY?), therefore the "3 np% can offer the n"va the n°1°2 which he sees fit;
namely the 1171 of the MWRA AP (which is similar to the N1 of the 1w 1P9).”

! This is the classic rule that 1T 12 WOW DIPA PTAVIWA QY021 YD1 TR.

* See 7137 "7 Moo,

? It would seem that according to Moo the meaning of 2pn 72 *nhaf is that the *3w np1» is saying, I am assigning to
you a different n°11°2 of my choosing’. See “Thinking it over’.
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However if the *1v > did not leave over :7°n1127 na152 by the WX 171, then

the *1w 7% cannot deflect the 11"va to the nvy112%% of the pwy it -
- 11591258 SN IMNTY 9199 157 XY ) PYNRIT

For the 1wx 1719 could also not deflect the n'"'va to collect from the nv112%7; for a
n"v2 may collect from n°11°2

mooIn anticipates and resolves a possible difficulty:
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For if you will argue that the WX 1?17 can push the 11"va to collect from the
n°12°1 on account of the claim of npnw S8 (the WX 2 will tell the n"va, if you
agree to M2, fine; and if not I will return the n>12°1 field to the M and you will
be forced to collect from the n"n:m).“ MooIn counters that there i1s no concern of

the npnw X claim, for the i1"¥2 can reply to the (PWxX1) 1?1%, when you will return
the "2 to the M? and make good on your threat, then and only then will I take n>2°r,
however now that you are in possession of the n"12°1 I am collecting from the mn12.”° There is
no NPNY °X claim by the WX 1?12, and therefore no power to deflect by the *3w 117, and he must
allow the 11"v2 to collect his n>11°2.

SUMMARY
In a case of >N N°11172 p*aw the "1 112 can be M7 the 11"v2 to the NWRY 12 on
account of the "\21 WX 7O» 71 claim.

THINKING IT OVER

The term >10% WK 197 72 (usually) refers to all the rights that the seller has in this
property (such as air rights, window rights, right of way, etc.). The fact that the
WX nP1? has the power to deflect the 1"va to collect from which ever property the
n1? chooses, is seemingly not a right in a particular property, but rather a right to
choose how to pay the r"va from his assets. How is transferring this power to the
no, allow the mY? to be exempt from payment?! The *1w% PWXY 7on 11 can
(perhaps) allow the 1w 1”1 to decide which of his fields to offer to the n"va, but
not to deflect the responsibility of payment to a different party!®

* If we assume this argument to be valid and the first P12 can be 7m7 the 1"v2 to n*M2°1, then the " npY? will also
be able to be M7 the 1"va to N2, because of the 712n 71 clause. See ¥ MK 17 .

5 See n1vOM on the (bottom of) >X 7"7 'R Ty, that when the 1 is 15 ¥°pon of the n"va (as in this case, where he
wants him to collect n>112°1), the n1"v2 can respond 7770 *3%.

6 See 0"77n on the 71 7"72 X3 and v MK "2,
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